
B.Com./Part-II/Gen./BMSG-III/2022 

2017 1  Turn Over 

 
WEST BENGAL STATE UNIVERSITY 

B.Com. General Part-II Examination, 2022  

BUSINESS MATHEMATICS AND STATISTICS 

PAPER: BMSG-III 
Time Allotted: 3 Hours Full Marks: 100 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 GROUP-A 

িবভাগ-ক 

 Answer all questions from the following 

িনmিলিখত সবgিল  pেűর উtর দাও 

 Unit-1 / একক-১ 

1.  (a) A variable y is equal to sum of two quantities one of which varies directly as x and 
the other varies inversely as x. If 8y  when 1x  and 10y  when 2x , find 
the relation between x and y. 
একিট চলরািশ y dিট রািশর সমিŶর সমান যােদর একিট x-এর সােথ সরলেভেদ ও অনয্িট বয্াsেভেদ
আেছ। যিদ 8y  হেল  1x  এবং 10y  হেল 2x  হয়, তেব x ও y-এর মেধয্ সmn েবর কেরা। 

5

 OR / অথবা 
(b) If y varies jointly as x and z, and 5y  when 3x  and 4z , then find y when 

2x  and 3z . 
যিদ y, x এবং z -এর সােথ েযৗিগকেভেদ থােক এবং 5y  যখন 3x  এবং 4z , তাহেল y-এর 
মান িনণর্য় কেরা যখন 2x  এবং 3z . 

5

  
 Unit-2 / একক-২ 

2.  (a) If 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

3–8–1
1–42
1–02

A , show that 3.||)Adjoint.( IAAA , where 3I = unit matrix 

of order 3.   

যিদ 
⎥
⎥
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⎦

⎤

⎢
⎢
⎢

⎣

⎡

3–8–1
1–42
1–02

A হয়, তেব েদখাও েয, 3.||)Adjoint.( IAAA , েযখােন 3I = একিট 

tতীয় kেমর একক ময্াি¹k ।  

5
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 OR / অথবা 

(b) Show that 0
accbba
cbbaac
baaccb

 

েদখাও েয, 0
accbba
cbbaac
baaccb

 । 

5

  
 Unit-3/ একক-৩ 

3.  (a) Show that / েদখাও েয,  2log
80
81log3

24
25log2

9
10log7 . 5

 OR / অথবা 

(b)  If  xbcalog , ycablog , zabclog , prove that 1
1

1
1

1
1

1
zyx

. 

যিদ  xbcalog , ycablog , zabclog , েদখাও েয 1
1

1
1

1
1

1
zyx

 । 

5

  
 Unit-4/ একক-৪ 

4.  (a) The difference between simple and compound interest on a sum put out for 5 years 
at 3% p.a. was Rs. 46.80. Find the sum. 
েকান টাকার বািষর্ক 3% হাের 5 বছেরর সরল ও চkবৃিd সুেদর পাথর্কয্ 46.80 টাকা। মূল টাকার পিরমাণ 
কত ? 

5

     (b) A flat can be purchased on down payment of Rs. 1,00,000 plus Rs. 2,00,000 at the 
end of 4 years. If the money is worth 12% compounded annually, what should be 
the cost price of the flat? [Given log(1.12)–4 = 0.6356] 
একিট বািড় বতর্মােন 1,00,000 টাকা িদেয় এবং 4 বছেরর েশেষ আরও 2,00,000 টাকা িদেয় kয় করা 
যায়। যিদ অেথর্র মান বাৎসিরক 12% চkবৃিd সুেদর হাের হয়, তেব বািড়িটর আিথর্ক মলূয্ কত হেব ? 
[pদt  log(1.12)–4 = 0.6356] 

5

 OR / অথবা 
(c)  Purchasing of National Savings Certificate makes the investment double itself in 6 

years. Find the rate of interest accrued, if compounded half yearly. 
একিট নয্াশনাল েসিভংস সািটর্িফেকেটর মূলয্ 6 বছের িdgণ হয়। যিদ মূল টাকার অধর্বািষর্ক চkবৃিd হয়, 
তেব সুেদর হার কত ? 

5

(d) What sum of money put out at 4% p.a. compound interest for 18 years will amount 
to Rs. 10,000? 
কত টাকা 4% বািষর্ক চkবৃিd হার সুেদ িবিনেয়াগ করেল, 18 বছর পর েমাট 10,000 টাকা 
হেব ? 

5

  
 Unit-5 / একক-৫ 

5.  (a) If 1:12: 23
2 CC nn , find the value of n. 

1:12: 23
2 CC nn  হেল, n -এর মান িনণর্য় কেরা। 

5
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(b) A question paper is divided into 3 groups A, B, C which contains 4, 4 and 
3 questions respectively. An examinee is to answer 6 questions- 2 from group A, 2 
from group B, 1 from group C and 1 from any group he chooses. In how many 
ways can he afford to choose questions? 
একিট pűপt A, B, C এই িতনিট িবভােগ িবভk, যােদর মেধয্ যথাkেম 4, 4 এবং 3িট কের pű 
আেছ। েকান পরীkাথর্ীেক 6িট pেűর উtর িদেত হেব- A িবভাগ েথেক 2িট, B িবভাগ েথেক 2িট, 
C িবভাগ েথেক 1িট এবং 1িট pű েস েয-েকান িবভাগ েথেক িনবর্াচন করেত পাের। কত pকাের pűgিল 
িনবর্াচন করা সmব ? 

5

 OR / অথবা 
(c) Find n,  (n িনণর্য় কর),  if  

 3:68: 23
2 CC nn  

5

(d) How many different words can be formed with the letters of the word 
‘COMMERCE’? How many of those begin with ‘CO’? 
‘COMMERCE’ শbিটর অkরgিল িনেয় কতgিল িবিভn শb ৈতরী করা েযেত পাের ? তার মেধয্ 
কতgিল ‘CO’ িদেয় ǖr হেব ? 

5

  
 Unit-6 / একক-৬ 
 Answer any three questions from the following 

িনmিলিখত েয-েকােনা িতনিট  pেűর উtর দাও 

5×3 = 15

6.  (a) Evaluate: / মান িনণর্য় কেরাঃ  
4
2lim

4 x
x

x
 5

(b) If ,xy yx  find 
dx
dy . 

xy yx  হেল, 
dx
dy  -এর মান িনণর্য় কেরা। 

5

(c) Find the maximum and minimum of 13)( 23 xxxf . 

13)( 23 xxxf -এর বৃহtম এবং kdতম মান িনণর্য় কেরা । 
5

(d) Evaluate: / মান িনণর্য় কেরাঃ  ∫ dxxx 52 )32(  5
  
 OR / অথবা 
 Answer any three questions from the following 

িনmিলিখত েয-েকােনা িতনিট  pেűর উtর দাও 

5×3 = 15

(e) Show that (েদখাও েয) :  
b
a

x
ba xx

x
loglim

0
 5

(f) If mxmx BeAey 22 , then show that (েদখাও েয) 04 2
2

2
ym

dx
yd . 5

(g) Show that 83xy  has neither a maximum nor a minimum value.  

েদখাও েয, 83xy -এর েকান চরম বা অবম মান েনই । 

5

(h) Find the area included between xy 92  and xy . 

xy 92  ও xy -এর অnɏর্k অĀেলর েktফলিট িনণর্য় কেরা । 
5
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 GROUP-B 

িবভাগ-খ 

 Answer all questions from the following 

িনmিলিখত সবgিল  pেűর উtর দাও 

 Unit-1/ একক-১ 

7.  (a) The following are the monthly salaries of 20 employees: 
20 জন কমর্চারীর মািসক েবতন pদt হলঃ 
 130,  62,  145,  118,  125,  76,  151,  142,  110,  98 
 95,   116,  100,  103,  71,   85,   80,   122,  132,  95 
Form a frequency distribution with 5 classes of equal intervals.  
সমৈদেঘর্য্র 5 িট েËণীযুk একিট পিরসংখয্া িবভাজন ৈতির কেরা। 

5

 OR / অথবা 
(b) Construct a pie chart for the following data: 

িনেmর রািশ তথয্ েথেক একিট পাইিচt ৈতির কেরা। 
Principal Exporting Countries of cotton (1,000 bales) 
pধান কাপর্াস রpানীকারী েদশgিল 

U.S.A. 
ইউ এস এ 

India 
ভারত 

Egypt 
িমশর 

Brazil 
bািজল 

Argentina 
আেজর্িnনা 

6367 2999 1688 650 202 
 

5

  
 Unit-2 / একক-২ 

8.  (a) Find the median and mode from the following table: 
িনেmর তািলকা েথেক মধয্মান ও সংখয্াgr মান িনণর্য় কেরাঃ 

Age (yrs.) No. of Persons 
20-25 5 
25-30 70 
30-35 100 
35-40 180 
40-45 150 
45-50 120 
50-55 70 
55-60 60 

 

10

 OR / অথবা 
(b) Find the coefficient of variation from the following data:

িনেmর তথয্ েথেক েভদাì িনণর্য় কেরাঃ 
X 3 5 7 8 9 15 16 
Y 15 18 22 24 19 25 31 

 

5



B.Com./Part-II/Gen./BMSG-III/2022 

2017 5  Turn Over 

(c) If G.M. of a, 4, 8 be 6, then find a. 
a, 4, 8-এর G.M. 6 হেল,  a -এর মান িনণর্য় কেরা। 

5

  

 Unit-3 / একক-৩ 
9.  (a) Find the mean if coefficient of variation = 5% and variance = 4. 

েভদাì = 5%  এবং েভদ = 4 হেল, েযৗিগক গড় িনণর্য় কেরা। 
5

(b) Two variables x and y are related by xy 310 . If S.D. of x is 4, what is S.D. 
of y? 
dিট রািশ x ও y এর মেধয্ সmকর্ হল xy 310 । x–এর সময্কিবcয্িত 4 হেল, y-এর সময্কিবcয্িত 
িনণর্য় কেরা।  

5

 OR / অথবা 
(c) Calculate the coefficient of quartile deviation from the following: 

িনেmর রািশতথয্ েথেক চtথর্ক পাথর্কয্ gণাì িনণর্য় কেরাঃ 
Marks 20-29 30-39 40-49 50-59 60-69 70-79 80-89 

No. of Students 5 15 18 26 16 14 6 
 

10

  

 Unit-4 / একক-৪ 
10.(a) Find the regression equation of y on x from the following table: 

X 4 5 6 8 11 
Y 12 10 8 7 5 

 

5

 OR / অথবা 
(b) The regression equations calculated from a given set of observations are 

03354 yx  and .107920 yx  Find the correlation coefficient between 
x and y. 
dিট pিতগমন সরলেরখার সমীকরণ হলঃ 03354 yx  ও 107920 yx । x এবং y -এর 
মেধয্ সহ পিরবতর্ন gণাì েবর কেরা। 

5

  

 Unit-5 / একক-৫ 
11.(a) Using the following data compute Fisher’s ideal price index number of the four 

commodities for the current year: 
িনেm pদt তথয্ হেত িফশােরর আদশর্ সূt pেয়াগ কের চারিট সামgীর বতর্মান বছেরর দর সূচক িনণর্য় 
কেরাঃ 

Items 
1985 1988 

Price Quantity Price Quantity
A 40 10 50 7 
B 20 5 30 8 
C 30 6 40 10 
D 10 9 20 10 

 

8
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 OR / অথবা 
(b) From the following data, calculate the cost of living index numbers:  

িনেmর তািলকা েথেক জীবনযাtার খরেচর সূচক িনণর্য় কেরাঃ 
Group Weight Index No. (Base-1952-53 = 100) 
Food 50 241 

Clothing 2 221 
Fuel and light 3 204 

Rent 16 256 
Misc. 29 179 

 

8

  
 Unit-6 / একক-৬ 
12.(a) Fit a quadratic trend equation by the method of least squares to the following data: 

লিঘŸ বগর্ পdিতর সাহােযয্ নীেচর তথয্ েথেক উপযুk িdঘাত pবণতা সমীকরণ িনণর্য় কেরাঃ 

Year 1992 1993 1994 1995 1996 
Import (in ’000 units) 10 12 13 10 8 

 

7

 OR / অথবা 
(b) For the following series of observations verify that 4 years centered moving 

average is equivalent to a 5 years weighted moving average with weights 
1, 2, 2, 2, 1 respectively. 

িনেm pদt পযর্েবkণ েËণীর জনয্ যাচাই কেরা 4 বষর্ীয় েকndীɛত গিতশীল গড় এবং 1, 2, 2, 2, 1 ভার 
িনেয় 5 বষর্ীয় ভারযুk গিতশীল গড় সমান। 

7

Year 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010
Sales (In Rs. ’0000) 2 6 1 5 3 7 2 6 4 8 3

 

 
 Unit-7/ একক-৭ 

13.(a) Using suitable interpolation formula find the value of y when 51x  
িনেmর উপযুk অnঃেkপেণ সূেtর সাহােযয্ y -এর মান িনণর্য় কেরা, যখন  51x  

x 1 2 3 4 
y 12 16 17 19 

 

5

 OR / অথবা 
(b) What is interpolation? State three different methods of interpolation. 

অnঃেkপণ কােক বেল ? িতনিট অnঃেkপণ পdিতর বণর্না দাও। 
5

  
 N.B.: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script.  

 ——×—— 
 


